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The term city state is genarally

associated with

(A) Ancient Egypt
(B} Ancient Greece
(C) Ancient China
(D) Ancient |pdia

According to Aristotle

(A) State Is a divine Institution
(B) State is an artificial creation
(C) State is a creation of force
(D) State is a natural institution

The statement that A man who lives out
side tha ‘Polis’ either a beast or a god'
is altributed to

(A) Plato

(B) Aristotle

(C) Hobbes

(D} Hegel

The Marxists hold that

(A) The state is a class struggie

(B) State represents only the workers

(C) State represents the entire
community h

(D) State is a power system

Whao said ‘Man is a social animal’ 7
(A} Aristotie

(B) Plato

(C) Rousseau

(D) Laski

The view that the state is the necessary
evil is assoclated with

(A) Individualists

(B) Anarchists

{C) Marxist

(D) Sophists

10.

11.

12
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Who said that state is expansion of
family 7

(A} Plato

(B) Aristotle

(C) Locke

(D) Mewton

Who of the following first of all
profounded the onganic theory of state
(A} Machiavelli

(B) Plato

(C) Marx

(D) Herbert Spencer

The tarm Sovereignty has been draw
from the Latin term
(A) Supranus
(B} Supreme

(C) Soviet

(D) Statute

The Pluralists believe in
(A) Legal Sovereignty
(B) Political Soveraigrity. -
(C) Nominal Soversignty
(D) Absolute Soveraignty

"I Sovereignty is not absolute, no sta
exists” who said this ?

(A) John Austin

(B) Jean Bodin

{C) Hobbes

(D) None of these.

Which one of the following describs
law as a command of the Sovereign
(A) Austin

(B) Locke

(C) Moaoney

(D) Laski
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18.

17.

18.
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In India the legal Sovereignty lies in the
(4} Parfiament

(B) Supreme Court

(C) President

(D) Electorate

According to Laski the State is

(A} Master of society and association
(B} Servant of Soclety

(C) Identical with Society

(D) WNone of thesa

In modern times the Force Theory found
a strong Advocate In

(A) Lenin

(B) Hitler

(C) Winston Churchill

(D) Mahatma Gandhi

The Social Contract Theory is based on
(A) Nationalism

(B) Constitutionalism

(C) Individualism

(D) Soclalism

Who said that ‘Man is bom free and
everywhera he is in chaing’ ?

(A} Aristotle

(B) Marx

(C) Rousseau

(D) Locke

Rousseau halled from
{A) Britain

(B) Germany

(C) France

(D) Russia

JDD-BO/PGT-POLSC/TIER-IVX-

19. The Principle of ‘Public Good' was
borrowed by Rousseau from
(A) J.S. Mill
(B} T.H.Green
(C) Locke
(D) Bentham

20, Who said "l am the State" 7

(A) James il of England
(B) MNapoleon | of France
(C) Louls XIV of France
(D) Hitler of Germany

21. The socialism advocated by Robert

(A} Scientific Socialism
(B) Collectivism
(C) Syndicalism
(D) UWtopian Socialism

22 Who said that socialism is a Chamel

like cread 7

(A) Karl Marx. -
(B) Lenin L
(C) Ramsay Muir

(D) T.H. Green,

23. Al rights musi be comparative with
(A) Raligion
iB) Customs
(C) Common good
(D) Culture

24, The credit for advocaling the legal
theory of rights goes o
(A) Locke
{B) Austin
{C) Bentham <
(D) Grotions
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27.

Who sald “Rights are those conditions
of social life without which no man can
seek In general, to be himsalf of his
bast” ?

{A) Hobbes

(B) Laski

(C) Aristot

(D) Rousseau

The 'Idealists Theory of Rights’ lays
emphasis on man's

(A} Social development

(B} Economic developrment

(C) Civil development

(D) Moral development

Who of the following advocated the
principle of *Survival of the fittest” ?
(A) Adam Smith

(B) Laski

(C) Herbert Spencer

(D) Marx

The ‘Economic Theory of Right's' is
associated with

(A) Marx

(B} Herbert Spencer

(C) Adam Smith ?

(D) Locke

Right to life is a
(A) Moral Right
(B) Political Right
(C) Civil Right
{D) Legal Right

Right to equality is a
(A) Civil Right
(B) Moral Right
(C) Palitical Right
(D) Legal Right

a31.
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Who regarded ‘life, liberty and pr
as inalienable nghts of man 7
(A) Locke

(B) Hobbs

(C) Green

(D) Aristotle

The Idealistic Theory of Rights is
known as

(A} Metaphysical Theory
{B) Personality Theory

(C) Sclentific Theory

(0} Soctal Contract Theaory

The property is the creation of
(A) State

(B) Govermnment

(C) .!ﬁ.duan’tur}st Businessman
(D) Cooperative endeavour

Who said that property Is the source
power 7

(A} Machiavelll

(B) Aristotle . .

(€) Plato 9

(B) Laski

The view that "all property is theft®
axpressed by

(A)  J. S Ml

(B) Adam Smith

(C) Marx

(D) Proudhon

Which of the following thinkers did
favour the rulers to own proparty ?
(A} Aristotle

(B) Piato

(C) Laskl ¢

(D) All the above
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The term liberty has been drawn from
tha Latin term

(&) Libel
(B) Lingua
(C) Labour
(D) Liber

Who was the following was an advocate
of positive liberty 7

(A} Marx

(B} Green

(C) Bantham

(D) J. 5. Mill

Whao was the author of 'On Libarty' 7
(Ay J. 5. Mill

{B) Bentham

(C) T.H.Green

(D) Lasky

Who said that Liberty consists in
following the moral law 7

(A) Cole

(B} Spinoza

(C) Marx

(D) Barker

“The passion for equality made vain the
hope for liberty” who said this 7

(A Lord Acton

(B) Austin

(C) Polland

(D) Lord Bryce

There are two pillars of Democracy viz.
Liberty and

(A) Law

(B) Equality

(C) Fratemity

(D) Rights

A0-
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The term “Justice' has been drawn f
the Latin term |
(A)  Just

(B) Jus

(C)  Jaint

(0) Judge

Justice Is essentially a

(A) Legal concepl

(B) Moral concept

(C) Social concept

(D} Complex concept combining
the concept

The history of pofitical philosophy |

history of quest

(A} Juslice

(B) Equality

{C) Liberty

(D) Power

The exponents of elitist theory

(A) Believe in political equality

(B} Believe in equality betwee
ruler and the ruled

(C) Do not believe in equality be
ruler and ruled

(D) Believe in all the above thre
principles

Who dafined democracy as “Goves

of the peopla, by the people, |

paople" ?

(A) Woodrow Wilson

(B) Lord Bryce

(C) Abraham Linéoin

(D) Laski
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To a socialist democracy means a
society in which

JDD-80/PGT-POLSC/TIER-I

52. Lord Bryce has written “That fo

government in which the rufing po

(A) Inequalities of wealth should be of a state is legally vested, not in
removed by state action L particular class, but in the member
(B) Al the means of productions and the community as a whole” Which fiq
distributitin are owned by the of govarnment he Is referring to 7
states (A) Democracy
(C) Free enterprise and state (B} Pariamentary Govemment
E enterprise exist side by side (C) Federal Government
(D) Nobody i3 without work (D) Unitary Govemment
49, Which one of the following has been 53. Who said "Democracy s merely a

wrongly listed as a crific of democracy 7 mechanism for choosing and

(A) Locke autharizing governments or in som
(B) Lecky other way getting laws and politica
(C) Maine decision made” 7
(D) Leveleye (A) Macpherson
(B) J.5.Mill
50. Lord Bryce defines democracy as (C) Thomas Paine
(&) “A form of a governmant in which (D) De Tocqueville

the will of majority of qualified nules”

(B) “The progress of all, through all | 54.

The concept of wmnﬁﬁf Maiori

under the leadership of the best democracy is advocated by
and the wisast" i (A) Grean
(C) “Government by the freely chosen (B) J.5.Mill
representatives of the people and {C) Thomas Paine
not by the people themselves” (D) De Tocqueville
(D} “Mothing more than an experimentl
In govermnment” &6 DE"'I'I}EI'E;E}I' is distinguished from

dictatorship by the fact that
(A} Itaims at the material good of
paople

51. Which one of the lollowing has been
wrongly listed as an essential attribute

of democracy 7 (B} Itensures social justice

(A) Freedom of speech {C) It guarantees civil and polit
(B) Freadom of religion rights .

(C) Equality before law (D) It is responsive to the will of
(D) Eguality of propariy people

-T2
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66. Electorate means

57.

248.

68.

(A)
(B)

(€)

(D}

The body of voters

The elected representatives of
people

The nominated membears of
pariiamedit

The candidatas who actually
contest the alections

Univarsal Adult Franchisa means

(A)
(B}

(C)
(D)

Right to vole granted to all
University graduates

Right to vote granted to all adult
citizens

Hight to vole granted to all man
Right to vote granted lo citizens
who pay taxes

One of the chief defects of Universal
Adult Franchise is

(A)

(B}
(C)

(D}

It gives chance to a common man
to be associated with the decisions
of the government

It protects the right of minorities

It lays emphasis on the principle
of equality

It leads to rule by ignorants

Women suffrage means

(A)
(B)
(C}

(D]

Right to vote granted to all adult
Women

Right to vote grantad to adult
married womean

Right to vote granted to graduate
WOomen

Right to vote granted fo those
women who have undergone
political suftering

B0,

B1.
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Who pleaded thal there should be
Parllaments to deal with the scong
and political problems 7

{A) Henry Webbs

(B) G.D.H.Cole

(C) J.S. Mill

(D) Marx

Joint Electorate Is a system in whigl
(A) Seats are reserved for variou
which

Thara is no reservation of seats
any one

Elaction are held simultaneo
far the central

Seats are allotted to varous
‘communities in proportion to i
strength

(B)
(C)
(o)

A Multi-member constituency is bell
than single-member constituency
because

(A) It provides greater freedom fo
people in selecting their
representatives + %

It encourages the growth of a
number of political parties

It is easy for the poor man to
contest alections

It ensures more stable minis

(B)
()

(D)

Minority representation means

(A) Represantalion lo persons be
the age of adulthood, so that 1
miay be abla o protect the interes
of the minors
Representation to tha varig
minorities present in a state
Representation 1o propartied
classes which lorm a pinority
the total community

None of the above

(B)
(C)
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Under single transferable vole system
gach voter can

(A} Indicate only two preferences

(B) Indicate only one preference

(C) Indicate one preference less than
the seats to i:ra filled up

Indicate as many preferences as
there are candidates etc,, be
elected

(D)

Under tha List System there are

(A} Single-member constituencies
(B) Two member constituencies
(C) Multi-member constituencies
(D} MNone of the above

The Cumulative Voting Plan, which
gives to each voter as many votes as
there ara seats fo be filled up, requires
thae votar 7

{A) To cast all his votes In favour of
one candidale

Mot to cast all his votes in favour
of any one candidate

To divide the votes amongst the
candidates

Give all votes to one candidate or
divide them betweaen two or more
candidates according to his
choice

(B)
{C)

(D)

Communal Representation means
(A} Reprasantation of the basis of
ideology

Reprasentation on the basis of
caste

Representation on the basis of
religion

Represantation on the basis of
profession

(B)
(C)

()

16
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70.
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Communal representation presuppo
the existence of

(A) A joint electorate

(B) Separate electorates

(C) Resarvation of seats

(D) There can be both joint as wel
saparate electorates.

Functional Representation meaans

(A) Representation of governmaeani
functionaries

(B) Representation of vocational
basis

(C) The functions of the represaniat
are well defined

(D) The representatives are fres
function as they like

One of the strong advocates of

Functional Representation was

(A} Rousssau

(B) Mirabeau

(C) Marx

(D} Engels

o
£

Which one of the following is the m
important feature of elections 7
{A) Elimination of multi-party sys
(B) Helping cifizens maintain the
rights
Peaceful change of govemmg
Removal of bottlenecks in
working of democracy

(C)
(D)

Who said "Voice of the people
the voice of God" 7

(A) Montesquieu

(B) Rousseau

(C) Thomas Jefferson
() Sir Henry Maine
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A*

Expand IPC

(A} Indian People's Court
(B} Indlan Penal Court
(C) Indian Penal Code
(D) Indian Postal Code

Which one of the fﬂlim|ng category of
persons is generally denied franchise 7
(A} Oid men

(B) Poor people
(C) liiterate parsons
(D)  Aliens

In which of the following countries the
citizens are permitted to exercise their
franchise at the age of 18 years 7

(A) U.S.S.R.

(B) USA.

(C) Britain

(D} Al of the above

Which one of the following countries
was the first to grant franchise to all
citlzens at the age of 18 years 7

(A) Britain

(B) France
(C) Sowviel Union
(D) India

Which one of the following was in favour
of grant of right to vote only to the
educated people 7

{A) Jawaharial

(B) Bentham

(C) J. 5. Mill

(0) Marx

78.

79.

a1.
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Political parties are
(A} Essential for democracy
(B) Not essential for democracy
(C) Essential for totalitarian

govemment
(D} Not essential either for democn

or totalitarian

The Constitution of Indla was enad
by a Constituent Assembly set up
(A} Through a resolution of the
Provisional Government
(B} Under the Indian Independeng
Act, 1947
(G} Under the Cabinet Mission P
19486
(O) By the Indian Congress

A liberal party beliaves in
(A) Retaining the present institutio
(B) Replacing the present instituti

by new and radical institutions:
(C) Making reforms In the axisting

institutions
(D) Conserving the old institutions

A radical political party belleyesin
(A} Maintaining old institutions
(B) Maintaining present institutio
with modifications
{C) In doing away with the present
institutions and replacing then
with new ones
(D) Bringing changes through
revolutionary methods

The political parties are helpful to pf
people in so far as they
(A) Provide them the basis amenil

of life
(B) Provide free education to thelr

children 2
(C) Render them legal assislance’
(D) Halp them to contest elections
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83. Political parties contribute to the proper

working of parliamentary govermment by

(A) Assisting poor candidates with
finances 1o contest the election

(B) By providing organized majority to
back the Counci of ministers

(C) By maintaining peace in the
country

(DY) By educating the public about the

vartous problems facing the
country

Political parties are undemocralic in 50

lar as

(A} They try fo contest elections and
capture powear

(B) They criticize the policies of the
govemment

(C) They try o iImplement their
programme once thay come into
power

(D) They do not permit their members
Io express their views independeantly

The narnes of the two major palitical
parties in Britain are

(A} Labour and Consarvative

(8) Labour and Liberal

(C) Conservative and Socialists
(D) Conservalives and Liberals

The major political parties of U.S.A. are
(A} Independent and Democralic

{B) Republican and democratic

(C) Democratic and Socialist

(DY Republican and Communist

JDD-80/PGT-POLSC/TIER-IVX-

Two-Party system is better because

(A} It gives despotic powers to the
Cabinet

(B} It gives an opportunity to the
opposition party to indulge in 2
irresponsible eroticism of
govemment

(C) It makes smooth charges in
government possible

(D) ltieads to the formation of coa
governments

Multi party system means

(A) Government is formed by all the
political parties present in the
country

(B) There are number of political
parties but the govermment is
formed by that single party whig
secures largest number of seal

(C} That the country has maore tha
two poiitical parties which aim
capluring power

(D) There is one dominant party
which keeps the pthigr political
partles under its ombralla

Multi-Party system is found in
(A) France

(B) China

(C) Britain

(D) U.S.A.

Tha chief defect of the multi-party

system Is

(A) It leads to cabinet dictatorship

(B} People hava very limited choig
in the selection of their
representatives

(C) The opposition cannot freely
criicize the policies of the
govamment

(D) Ithas lo frequent constitutional
crisis
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A totalitarian state has ganerally
(A) Single Party system

(B) A bi-party system

(C) A muiti party system

(D) Mo political parties

Cne-Party systern means

(A) There is one dominant party,
while the other parties occupy
an insignificant position

(B} There may be number of political
parties but the government is
formed by only one pariy viz., the
party securing maximum of votes

() There is only one political party
and no other political party is
permitted to come into existence

(D) None of the above

Interest group means

(A) A small group within a party which
fights for the interests of members,
of its own calegory

Ary small group which contests
elections, with the sole objective
of protecting interests of its
members

A group of people who with the
halp of moneay try to secure
control ovar govemment

A group of paople with common
objectives which tries to
influence the course of public
affairs with a view o promote the
interast of its members

(B)

()

(D)

g6.

97.
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Cne of the basic features of interest
aroup is

{A) To promote national interast
(B) Topromote interast of its membs
(C) It has close alignment with
politics

They are found only in Commur
countries

()

Interest groups are found

(A} Only in democratic countries
(B) Incapitalist society

(C) Only in totalitarian countries
(D) Inall countrias

A person can be a member of

(A) Only one pressure group at ti

(B) Any number of pressure grougi
the same time

(C) Mot more than three pressure
groups at a time

(D) Either a pressure group or a
political party ot

A political party serves as important
between the lagislature and

(A) The people

(B) The voters

(C) Executive

(D) Judiclary

Political Parties are indispensable |
the successiul working of

(A) Democracy

(B} Dictatorship

(C) Both democracy and dictato
(D) None of the above
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The main defects of two — party
systemare

(A) Itleads to dictatorship of Cabinet
(B) ltdivides the nation into two hostile
camps -

It narrows down the choice of the
electorate

It is very expensive

(C)

(D)

The Pressure groups try to achieve their
objectives through

(&) Violent methods

(B} Pearsuasive methods

{C) Agitational methods

(D} All the above methods

Prassure group first of all originated in
(A) Switzerand

(B) Britain

(C) US.A

(D} France

The political parties are generally
formed on the basis of

(A} Common interests

(B) Common economic and political
principles

Commaon group interests

All the above

(C)
(D)

Political parties render great semvice to
the poor people by

(A} Taking up thelr cause with the
govermmeant

Providing free legal assistance to
neady persons
Providing them necessary funds to
contest elections

All the above measures

(B)

()

104,
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(D)
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The pressure groups fry to promote the
interests of their members by axarfing
pressure on

(A) The legisiature

{(B) The executive

(C) The Judiciary

(D) Al the above

Certain features of public opinion are

given below but one of them has been

wrangly listed.

{A) Public opinion is definite opinion

(B) Public opinion is based on sound
arguments and reasons

(C) Genarally It is the opinion of the

intellectual minarity

(D) Public opinion is based on
commen good

Amongst the agencies of public

opinion the press plays an important

role. Press can be an effective agency

of public opinion only if.

(A) Itis committed to the policies of
govemmeant

it is free and Impartial. - |
Ilmmpmmmmm%!h sak

sections
It is highly critical of govern
policies

Which one of the following statements
is the best definition of the public
opirion 7

{A) The aggregate of all identical
parsonal opinions on a specific
issue
The sum-total of the opinions off
majority

The aggregate of personal
opinions held by certain
influential individuals
Politically significant views shal
and voiced by relatively lan
segmeants in a political commung

(B)
(C)

(D)

(B)
(C)

(D)
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Which one of the following has been
wrongly listed as an agency of public
opinion 7

(A) The Press

(B) Educational Institutions

(C) Political Parlies

(D) Mone of the abBve

Who said “The success of democratic
government depends upon the degree
to which the public opinion Is sound,
well developed and effective In
controlling the action and policies of
government” 7

(A) Barker

(B) Garner

(C) Mac ver

(D) Gettell

“Public opinion Is commonly used to
denote the aggregate of the views men
hold regarding matters that affect or
interest the community”. Who made the
abova statemant 7

{A) Bryce

(B) Barker

(C) Gamer

(D) Graham Wallas ;

Which ane of the following is suicidal to
the growth of healthy public opinion ?
(A) Television

(B) Radio

(C} Cinema

(0} Yellow journalism

George Hoarace Gullup, who invented
the method of Gullup Poll, hailed from
(A) Britain

(B) Germany

(C} Swedean

(D) USA.

113.

114,

115.

116.
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Public opinlon plays a vital role in

(A) Democrafic system

(B) Dictatorial system

(C) Both democratic as well as
dictatorial systams

(D) The smooth working of all types of
political systems

Freedom of speech Is a feature of

(A) Democratic Conslitutions

(B} Totalitarian Constitutions

(C) Democratic as well as totalitarian
Constitutions

(D) None of the above

Which one of the following

constitutions dpes not grant right o

freedom of speech 7

(A) Swiss Conslitution of 1874

{B) USSR Constitution of 1936

(C) Japanese Constitution of 1946

(D) MNone of the above -

‘,',"'_‘I_-.'T' ;

Which one of the following statermenits

is correct 7

(A) Blackstone, an English Jurist, did
nol consider censarship as a
restraint on freedom of speech

(B) The French philosophers of the
nineteanth century did not
consider censorship as restraint
on freadom of the spesch

(C) The U.S. courts have not regarded
prior censorship as a rastriction on
freedom of speech

(D) Al the above considered
censorship as rastriction of >
freedom of spaech
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The importance of the press has
increased in recent years due o
(A) Spread of education

(B) Irvention of pringing machines
(C) Manufacture of paper in large
guality

Introduction of quick means of
transportation.

()

Freedom of press includes.

(A} Right to print and publish news and
VIBWS

Todistribute or circulate the printed
matters

To comment on public affairs and
criticlze public men and measures
All the above

(B)
IC)

(0)

Which of the following does not fall

undear the freedom of press 7

(A} Rightto print public news and view

(B} Right to gather news

(C) Freedom not to publish any news,
article, correspondence or other
matter

{0} None of the above

Indian freedom of press is

{A) Specifically provided in the
Constitution

Implied in the right o freedom of
axprassion

Available to the paople of India
under Law of Parliament
Available to the people of India
under Executive Orders

(B
()

(o)

121,

122,
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Which of the following criterias cannot

be used for restricting freedom of press

in India ¥

(A) Securily of the State i

(B) Friendly relation with Foreign Stale

(C) Undue criticiam of the policies ol
the Govermnmeant

(D) Decency or morality

The Liberalism can be traced back to
(A} Early Greek Thinkers

(B) French Revolution

(C) Glorious Revolution of 1688

(DY  American war of Independence

Liberalism become a definite theory or
philosophy only in

(A) The seventeanth century

(B) The eighteanth cantury

(C} The nineteenth century

(DY The presant century

Liberalism as a philosophy fiourished
maximum in

(A} England

(B) France

(C) Gearmany

(D) U.SA,

Libemlism flourished In England
because

(A) It has a strong middle class

(B) It was an industrially advanced
country

It had a monarchical syst®m of
govermmant

It has an unwritten canstitution

()

(D)
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The classical liberals believad that

(A) Strong nation had right to dominate
the weak nations

No nation had the right to exploit
the other =

The rich nations must help the poor
nations to eliminate international
lension

Poor nations must join hands to
protect themselves against the rich
nations

(B)
(C)

Individualism, which was one of the
theories of liberalism pleaded for

(A) Maximum state control

(B) Maximum freedom for individual
(C) Press censorship

(D) Development of moral life

The economic justification for
Individualism was offered by
(A) Adam Smith

(B} Herbert Spencer

(C) Marx

(D) J. 5. Mill

*The Wealth of Natlons" which is a
classic treatise on the theory of non-
intervention in economic sphere was
written by

(A) Adam Smith

(B) Cairnes

(C) Ricardo

(D) Malthus

The social and political justification for
individualism was given by

(A} Herbart Spencer

(B) Bentham

(C) J. 5. Mill

(D) Mac ver

131.

132

133.

134,

(D)
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The cradit for converting Liberalism into
Positivist Liberalism in the nineteenth
century goes to

(A) Bentham

(B) Herbert Spencer

(Cy T.H.Green

Adam Smith

The idealist revision of liberalism was
effected by

(A} Bernard Bosanguest

(B} Hegel

(C} Laski

(D) Adam Smith

Modem libaralism differs from classical
liberalism in so far as :

{A) It does not support individual
liberty

It is against democratic irmtlp:l.‘ﬁrm
It pleads for free enterprise

It stands for a world free from all
forms of tyranny and exploitation

(B)
(C)
(D)

The modern individuallsm, which
arose as a reaction against extrema
collectivism, differs from nineteenth
century individualism |s so far as

(&) It focuses attention on group rather
than the individual

It pleads for abolishing the state
It pleads for maximum function for
the state =
It pleads for absolute freedom for
individual

(8)
(C)

=)
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135. The modern individualists consider the

slale as

(A) Omnipotent

(B} Indispensable

{C) One of many groups
(DY Superfluous

Utilitarianism, which is another theory
of liberalism Is associated with the
name of

(A} Hegel

(B} Bentham

(C) Locke

(D} Green

The principle of 'greatest good of the
greatest number' was advocated by
(A) Idealists

(B) Individualists

(C) Utilitarianism

(D) Marxists

Individualism is also known as
(A} Idealism

(B} Syndicalism

(C) Laissez Faire

(D) Collectivism

Who coined the term 'POSDCORB’ 7
(A) J. D. Miliet

(8) Piffiner

(C) Luther Gullick

(D) L.D.White

. The modern individualism arose as a

reaction against

(A) Extreme collectivism

(B) Fasclsm

(C) Misuse of individual freedom
(D} None of these

141.
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Who of the following is the most
important axponent of modern
individualism ?

(A) J.S. Mill

(B} Herberl Spencer

(C) Adam Smith

(D) Graham Wallas

Evolutionary Socialism believes

(A} In bringing about changes through
peaceful mathods

In bringing changes through
revolufionary methods

In status quo viz, maintaining the
present situation .

Mone of the above

(B8)

()

(D)

The objective of socialisniigto

(A) Establish a stateless and classiass
saciety

(B) Establish a just and equitable

sociaty

Do away with the institution of

state

Perpetuate existing class

distinctions

(C)

(D)

The Socialists lay emphasis on
(A) Political liberty

(B) Economic equality

(C) Right to private property
(D) Independence of judiciary

i
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146.
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149,

Which one of the following statement is
cormect 7

(A} Socialism is a compromise
betwean Communism and
Liberalism
Socialism is a
betwean indi
idealism
Socialism Is a compromise
between Communism and
Idealism

Socialism is nothing but idealism
minus its practicability

(B) i way house

ualism and

(C)

(D)

The Socialists favour nationalization of
natural resources with a view

{A) Toreduce the cost of production
{(B) To increase production

(C) To avoid exploitation

(D) To ensure their full utiization

One of the chief exponents of Fabianism
was

(A) Engles

(B) Laski

(C) Sidney Webb
(D) Lenin

Fabianism drew its name from 'Fablus’

(A) A Roman General

(B) A unit of local government in
anctent Greece

(C) A prominent trade universal

leader.

{0} A religious leader

Fabianism believed in

Sudden and violent changes
Slow and peaceful changes
Mo changes

Changaes through religious
praaching

(A)
(B)
(C)
()

150,

151.

152,

1563,

154,
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As regards the methods of the
Fabianists, they believed in
implermanting their programme

(A} Through propaganda and
persuasion

Through general strike

By completely dislocating the
government machinery
Through none of the above
methods

(B)
(C)

(D)

The chief attack of the Fablanists was
directed against

(A) Capitalism

(B} Large scale industries

(C) Concentration

(D} Private property

Fablanism Is via-media batween
(A) Individualism and Marxism
(B) Individualism and ldealism

(C) Individualism and Socialk

(D)  Individualism and Femg‘ c
The Fabianists were in favour of transter
of ownership for

(A} Workers

(B) Farmaers

(C) Soclety
(D) Feudal Lords

The Fabianists wished to eliminate the

idle class of society by

(A) Introducing compulsory labour for
all

(B) Eliminating landed property

(C) Educating people 3
(D) Introducing compulsory labour for
all able bodied
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155.

The Fabianists held that the state Is
(A) A moral institution

(B} An instrument of exploitation
(C) A necessary evil

(D) A trustee of ﬂﬂ'pomg

Fablanists were in favour of

(A) Granting franchise to womean

(B} Not granting franchised to women

(C) Granting franchise to women
subject to certain conditions

(D} Never expressed any view on this
issue

. Which one of the followings is not an

evolutionary brand of Socialism 7
{A) Communism

(B) State Sociallsm

(C) Fabianism

(D) Guild Socialism

Which one of the following has been
wrongly listed as revolutionary brand of
Socialism 7

(A} Communism

(B) Syndicalism

{C) Fablanism

(0} None of the above

Revolutionary socialism balisves in

(A) Bringing about changes through
constitutional methods

(B) Bringing about changes through
violent revolution

(C) Completely overthrowing the
prasant system

(D) Maintaining status quo

JOD-8U/PGT-POLSC/TIER-IVX-15

The Democratic Socialists are

(A) Against all nationalization

(B) Infavour of immediate
nationalization of all industries

(C) In favour of nationalization of
ndustries through stages

(D}  In favour ol mixad — economy

Political Science is a branch of
(A) Physical Science

(B) MNatural Science

(C) Pure Sclence

(D) Social Science

Fabianists wera in favour of transfer of
ownership of land to

(A) Workers

(By Farmers

(C) Society

(D) Feudal lords

According to Democratic Socialist

planned production is good because.

(A} It leads to production of goods
according 1o the requirement of
society

(B) It leads loTarge scale production

(C) The workers have a stake in the
system and try 1o produce
maximum lowes! cost

(D) Mtleads to production of goed
quality goods
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164, The Fabian Soclety was set up o
(A} Popularise Communism
(B) Popularise Anarchism
{C) Bring individualism up to date
(D) Popularise socialism

According fo Marx stale is

(A) A divine institttion

(B) A positive good

(C) A necessary evil

(D) Aninstrument of exploitation

Marx belonged to
(A) Germany
(B) Holland

(C) France

{D} Britain

According to Marx, history is the
product of

(A} Material forces

(B) Religious forces

(C} Political forces

(D) Combination of material, religious

and political forces
Marx's principle of ‘materialistic

concaption of history” is based on the

assumption that
(A) The course of history remains
unchanged

(B) The course of history is determined

by the leaders of society

(C}) The course of history is determined

by the conscience of men

(D) The course of history is determined

by the mode of production

According to Marx the class distinctions

in the sociaty are based on
(A) Religion

(B) Social status

(C) Family status

(D) Hostile interests

JDD-80/PGT-POLSC/TIER-IVX-15

According to Manx the value of a good

is determined by

{A) Labour

(B) Land

(C) Caphal

(D) Combination of all the above
factors

Which one of the following statements

sumps up Mane's views about history 7

(A) History is nothing but a record of
the wars between the various
paople

(B) History is nothing but a succassion
of struggle between the opprassor
and the oppressed classes

(C)} History Is a faithiul record of the
past events

(D} None of the above

Marxian Socialists are in favour of
(A) Abaolishing capitalism
(B) Retorming capitalism

{C) Retaining capitalism asilis -
(D) None of the above

The Marxists believe that capitalism

contributes to its own destruction.

(A) By paying lowest wages to
workers and reducing their
purchasing capacity

(8) By not permitting the workers any
participation in the affairs of
government
By bringing more people from
lower classes in its own ranks
By large scale production and
making the working classes
economically free
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174. According to Marx a revolution in the

Capitalist society takes place.

1A) Due to foreign interference

(B) Due to increasing importance of
political elites

(C) Due to growing antagonism
between the hefves and have-nofs

(D) Because of dissatisfaction of the
educated people with the system

Marx heid that in the Communist Society

the

(A) Bourgeois will dominate the
proletariat

(B] The proletariat will dominate the
bourgeols

(C) The spheres of the bourgecis
and proletariat will be clearly
demarcated and none will be
clearly demarcated and none will
dominate the other

(D) Distinction betwesn bourgeois and
proletariat shall not exist

Communism which was propounded by

Marx and Engels and modified by

subseguant philosophers believes in

(A) State ownership of all the means
of production

(B} Complste freedom in the economic
sphere

(C) Mixed-economy with only key
industries under state control

(D) MNone of the above

The two persons who exercised
maximum influence on Marx ware
(A) Machiavelli and Hagel

(B) Fischie and Laski

{C) Hegel and Feurbach

(D} Rousseau and Machiavelli

JDD-80/PGT-POLSC/TIER-IVX-15

Which one of the following ideas was
borrowed by Marx from Hegel 7

(A) Class struggle theory

(B) Surplus value theory

(C) Dialectical mathod

(D) MNone of the above

Which one of the following statement

has been wrongly attributed to Marx ?

(A) State is the executive committea
of the bourgeoisie

(B) The state uses force for the
protection and promotion of
interests of the poor people

(C)} The state uses lorce for the
protection and promotion of the
interests of the ruling class

(D) Al the phenomena of human
society -have their origin in
matarial conditions of life

Which one according to the Socialists
is the root cause of all evils 7

(A) Property

(B) Equality 5

{C) Democracy '

(D) Al the above

Fascism as a philosophy developed

(A} Inthe nineteenth century

(B} Inthe pre-World War | period

{C) Inthe post World —War |l period

() In the inter-war period (between
Waorld War | and Waorld War 1)

The chief advocate of Fascism was
(A} Hitler

(B) Stalin

(C) Mussolini

(D} Laski
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184,

185.

186.

187.

Fascism originated as

(A) A programme of aclion

{B) A philosophy

(C) Botha philosophy and programme
(D} MNone of the above

According to FasciSts the state is
(A) An instrument of exploitation
(B) Anembodiment of justice and
virtue

A class structure

Suparfluous

(C)
(D)

In the economic sphere fascism stood
for
(A)
(B)

Free trade and compatition
State regulation of all economic
activities

Regulation of industries by
woarkers

MNone of the above

(C)

(0

In the political sphera the Fascists stood
for

(A)
(B)
(C)
(D)

Partyless government

Single party government
Bi-party systam
Multi party system

Fascism stood for

{A) Strengthening of democratic
institutions

Removal of defects in the existing
democratic institutions to make
them more effective

Abglition of democratic institutions
None of the above

(B)

(C)
)

188.

188,

180,

191.

JDD-80/PGT-POLSC/TIER-II/X-15

The Fascists were opposed 1o
democracy on account of various
reasons. Which one of the following
reasons has been wrongly listed 7

(A} Because they did not believe in the
inherant worth of man '
Because thay felt that the
masses were not competent 10
govern themsslves

Because they believed in human|
inaquality

Bacause majority consists of fools

(B)

(C)

(B2}

The main objective of the Fascisis in
Italy was to transform ltaly into

(A) A socialist state

(B} A lalssez faire state

(C) A greal power

(D)  None of the above

The term ‘fascism’ is darived from
world facio’ which maans.

(A) Abundie of sticks -

(B) Abundleofrods + @
(C} A bundle of brooms

(D} None of the above

The Fascists regarded

{A) The individual as superior to
nation

The nation as superior to the
Individual

The individual and nation as
supreme within their allotted
spheras

The Fascists expressed no views
on refationship between the
individual and the nation

(B)

()

(D)
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Which one of the following was
supreme according to the Fascists ?
(A) The people

(B} The leaders

(C) The elected Parliameant

(D) The naﬂun.’

Tha rise of Fascism in Italy was the
result of

(A} Renalssance

(B) First World War

(C) Mapoleonic Wars

(D) Industrial Revolution

Who considered saving as a necessary
condition for economic development 7
(A) Adam Smith

(B) Marx

(C) Marshall

(D) All the above

Which one of the following criticism
leveled against the classical theory of
development is not correct 7

(A} Itunderestimated the possibility of
technological progress

It failed o adequately analyse the
prablem of maintaining aggregate
demand

It attached too much importance
to the role of tachnology in
development

(D) None of the above

(B)

(C)

Mandan theory of development

(A) Was essaentially an economic
theary

(B) Was essentially a political theory

(C) Was essentially a soclo-economic

theory

Was blend of economic,

sociological, political factors

(B)

197,

198,

189,
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The Capital accumulation which
according to Marx, contributes fo
development is rendered possible by
(A) Technological improvemeant

(B} Reduction of wages

(C) Increase in working hours

(D) Nona of the above

Who looked upon economic
davelopmant as a race between
capital accumulation and population
growth 7

(A) Marxlan writers

(B) Classical writers

(C) MNeo-classical writers

(D) Al the three

The chief defect of the neo-classical
theory of development is

(A) Nattaches too much importance 1o
factors like political stability and
attituda of the people _ :
it completely ignorgs Factors fike
political stability and attitudes of
people

It refused to consider development
as a gradual

None of these

(B)

(C)
(D)

A socialist state stands for

(A) Raising the standards of the poor
and down-trodden section

(B) Providing maximum opportunities
of progress to all members of the
community

(C) Only police functions to state

(D) Leaving the individual completaly

to die
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IMPORTANT INSTRUCTIONS TO CANDIDATES

TeftaTt & fem et srEm

This booklat contains 48 pages.

Plaase check all tha pages of the Booklat
cargfully. In case of any defect, piease ask the

Invigilator for replacement of the Booklet,

., Directions . Each guestion or incomplale
statemant is lollowed by feur allernative
supgested answers or Lompletions. In each

o salact the one that

correclly answers the question or complates

the statement and blacken (@) appropriate
cirele A, B, C or D by Blue/Black Ball-Point Pen | -
against the question concemed in the Answer-
sheet. (For V.H. candidates corresponding

Case, you are nequir

circle will be blackened by the scribe)
Mark your answer by shading the appropriate

circle against each question. The circle should
be shaded completely without leaving any space.

The gormeci method of shading is given below.
Whing Mwhin  Wite Mathad  Weng Mathod  Comssl Mathod

IQE.Q_QEQE Q.Ql@;ﬁ ROIOe0D
Tha Candidate must mark his/her raspanse
after carsful consideration.

Thera s only one correct answear to aach
question, You should blacken (@) the circle
of the appropriate column, viz., A, B, Cor D.
It you blacken (@) more than one circle
against any one queston, the answar will ba
freatad as wrong. If you wish lo cancel any
answer, you should complately erasa that black
miark in the circle in the Answer-Sheet and ﬂ'lnn
blacken the drcle of revised responss.

A maching will read the coded infermation
in the OMR Answer-Sheel. In case the
information Is incomplete’different from the
information given in the application form, the
candidature of such candidate will be reated
as cancalled.

Usa the space for rough work given In the
Queslion Booklst only and not on the
Answear-Sheet,

You are NOT required to mark your answers
in this Booklet. All answers musl ba
indicated in the Answer-Sheet only.
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Go through instructions given in Page No. 3 (Facing Page)
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I} Essay (In English)

30 Ma

| Write an essay on any one of the topics given below :

a) Home lifie is better than hostel Ilfe.
r OR
b} Terrorism— A curse for Humanity.

OR

c) Atraffic jam you witnessed.
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il) Letter Writing / Expansion of Ideas (in English)

. Answer any one of the following : 20 Mark

a) Write a letter to the Inspector General of Police informing him of a daring
robbery thaj took place in your locality.

OR
b) A bad workman blames his tools — Expand,

OR

. ¢) Write an application for the post of Senior Teacher as per advertisement in a
| local Newspaper.

o i
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INSTRUCTIONS TO CANDIDATES

Time Allowed :
: Descrptive Type Examination : 1 Hour
Total . 1 Hour

Please check all the pages of the

Question-Cum Answer Bookiet with
OMR facing sheet. Incase of any defect,
please ask the Invigilator for replacement
of the Booklel. In case of any discrepancy
between the English and Hindi versions
of any Question, the English varsion will
be treated as final/authentic.

You must not tear off or remove any shaat
from this Booklet. This Booldet must be
handed over to the [nvigilator before you
leave the Examination Hail,

This Booklet consists of Descriptive
Examination — 2 guestions of 50 marks.
Limit your answer 10 the space provided

in this Booklet. No additional sheet will |

e provided.

Answer the Questions as carefully as you

can. Some Quastions may be difficult
and others easy. Do not spend much time
on any Question.

Use of Calculator/Palmiop/Laptop/Other
Digital Instrument/Mobile/Cell Phone/
Pager is NOT allowed.

Candidales found guilty of misconduct/
using unfair means in the Examination
Hall will be liable for appropriate penal/

legal action.

You should nol write your rell number,
name or address in the space provided
for writing answer. In case of letier writing
name and address should be written as
“abo”, ‘xyz" sle.
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